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Vhi %Vhi %Vhi %Vhi %Vhi % [k.M ̂v* esa nl vfry?kwŸkjh iz'u gSa] ftUgsa gy djuk vfuok;Z gSA [k.M
^c* esa y?kwŸkjh ç'u ,oa [k.M ̂ l* esa nh?kZ mŸkjh ç'u gSaA [k.M ̂ v* dks
lcls igys gy djsaA

Note : Section 'A', containing 10 very short-answer-type questions, is compulsory.
Section 'B' consists of short-answer-type questions and Section 'C'
consists of long-answer-type questions. Section 'A' has to be solved first.

Section - 'A'
fuEukafdr vfry?kwŸkjh ç'uksa ds mŸkj ,d ;k nks okD;ksa esa nsaA
Answer the following very short-answer-type questions in one or two
sentences.     (1x10=10)

ç'u 1- nh bULVhV~;wV vkWQ dkWLV ,.M oDlZ ,dkm.Vs.Vl~ vkWQ bf.M;k dk iz/kku
dk;kZy; dgk¡ fLFkr gS\
Where is the head office of the Institute of  Cost and Works Accountants
situated?

ç'u 2- ykxr ds rhu rRo dkSu ls gSa\
What are the three elements of cost?

ç'u 3- jgfr;k ds ewY;kadu gsrq ys[kkadu esa fdl fof/k dk iz;ksx gksrk gS\
Which method of inventory valuation is most widely used in accounting?

ç'u 4- dPph lkexzh dh miyC/krk u gksus ds dkj.k mRiUu gksus okys dk;Zghu le;
dh ykxr fdl [kkrs esa pktZ dh tkrh gS\
Cost of the idle time on account of non-availability of the raw material is
charged to which A/C?
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,d VSDlh dk dqy thou yxHkx 2]00]000 fdeh gSA ,d VSDlh dqy feykdj
,d eghus esa 3]000 fdeh pyrh gS& mldk 30% ;g [kkyh pyh gSA 10
fdyksehVj ds fy;s isVªksy dk miHkksx ,d yhVj gS vkSj mldh nj 1 :- 80
iS- izfr yhVj gSA rsy rFkk vU; fofo/k 100 fdeh ds fy, 5 :- gSaA ,d VSDlh
dh izfr fdyksehVj lapkyu dh x.kuk dhft,A
Total life of a taxi is about 2,00,000 kms. A taxi runs in all 3,000 km in a
month of which 30% it runs empty. Petrol consumption is one litre for 10
km @ Rs. 1.80 per litre. Oil and other sundries are Rs. 5 per 100 km.
Calculate the cost of running a taxi per km.

ç'u 5- ykxr ykHk rFkk foŸkh; ykHk ds chp vUrj ds dkj.kksa dk o.kZu dhft,A
Explain reasons for difference between cost profit and financial profit.

OR
izoh.k fy- ds fuEufyf[kr ys[kkadu vfHkys[k miyC/k gS %
Following records are available from the accounting records of Praveen Ltd. :

¼ykHk@gkfu½
o"kZ@Year fcØh@Sales           (Profit@Loss)
   2017      25000 5000 (gkfu@Loss)

   2018      75000 5000(ykHk@Profit)

Kkr dhft, (Find out) :

¼1½ YkkHk&ek=k vuqikr (P/V Ratio)

¼2½ LFkk;h ykxr (Fixed Cost)

¼3½ lefoPNsn fcUnq (B.E.P.)

¼4½ 10]000 :- ds ykHk ds fy, lqj{kk dh lhek (Margin of safety for the

profit of Rs. 10,000)

---x---
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ç'u 5- ;fn ykxr =18000 :-] ykxr ij ykHk dk izfr'kr 
1

33
3
 gks rks ykHk dh

jkf'k D;k gksxh\

If cost = Rs.18000, percentage of profit on cost  

1
33

3

, then what will be

the profit?

ç'u 6- ,d Bsds ij Hkstk x;k Iyk.V 20% gzkl pktZ djus ds i'pkr~ 16000 :- esa
ykSVk;k x;kA Iyk.V dh ykxr rFkk gzkl dh jkf'k crkb,A
A plant sent to site was returned at a value of Rs. 16000 after charging
depreciation @ 20%. Find  the cost of plant and amount of depreciation.

ç'u 7- X izfØ;k dk lkekU; mRiknu 1000 bdkb;ka gS ,oa vlkekU; {k; 20
bdkb;ka gS rks izfØ;k dk okLrfod mRiknu D;k gksxk\
If normal output X process is 1000 units and abnormal wastage is 20 units,
then what is the actual output of the process?

ç'u 8- ykxr ys[kksa ds vuqlkj 19200 :- ykHk gSA ;fn ykxr ys[kksa ds vuqlkj gzkl
ewY; 800 :- vf/kd olwy fd;k x;k gks rks foŸkh; iqLrdksa ds vuqlkj ykHk
D;k gksxk\
Profit as per cost accounts is Rs. 19200. If depreciation overcharged in
cost accounts is Rs. 800 then what will be the profit as per financial
accounts?

ç'u 9- ^ifjpkyu ykxr* dks ifjHkkf"kr dhft;sA
Define 'Operating Cost.'

ç'u 10-lqj{kk lhek D;k gS\
What is Margin of Safety?

Section - 'B'

fuEukafdr y?kq mŸkjh; ç'uksa ds mŸkj 150&200 'kCn lhek esa nsa
Answer the following short-answer-type questions with word
limit 150-200                                                                                               (5x5=25)

ç'u 1- ykxr ys[kkadu ls vki D;k le>rs gSa\
What do you mean by Cost Accounting?

His total factory overheads for the month of August 2018 was Rs. 1,00,000.
You are asked to determine the factory cost of each type of fan assuming
that one ceiling fan is equivalent to two table fans and one cooler is
equivalent to five table fans for the purpose of overheads allocation. The
production in the month of August 2018 was 1,000 table fans. 500 ceiling
fans and 100 coolers.

ç'u 4- lkekU; {k;] vlkekU; {k; ,oa vlkekU; cpr dks le>kb,A izfØ;k ykxr
ys[kksa esa budk ys[kk fdl izdkj fd;k tkrk gS\
Explain Normal Wastage, Abnormal Wastage and Abnormal Effectiveness.
How should these be dealt in process Cost Accounts?

OR
fe- xks;y VSfDl;ksa ds ,d csM+s ds ekfyd gSa vkSj muds }kjk j[ks x;s
vfHkys[kksa ls fuEufyf[kr lwpuk,a izkI; gSa %
Mr. Goel owns a fleet of taxis and the following informations are available
from the records maintained by him :
VSfDl;ksa dh la[;k
Number of  taxies       10
izfr VSDlh ykxr ¼:-½
Cost of each taxies (Rs.) 20,000
eSustj dk osru ¼izfr ekg :-½
Salary of Manager (per month Rs.)     600
ys[kkiky dk osru ¼izfr ekg :-½
Salary of Accountant (per month Rs.)     500
Dyhuj dk osru ¼izfr ekg :-½
Salary of Cleaner (per month Rs.)      200
eSdsfud dk osru ¼izfr ekg :-½
Salary of Mechanic (per month Rs.)      400
xSjt fdjk;k ¼izfr ekg :-½
Garage rent (per month Rs.)     600
chek izfe;e ¼okf"kZd½
Insurance premium (per annum)                                       5%
okf"kZd dj ¼izfr VSDlh :-½
Annual tax (per taxi Rs.)     600
Mªkbojksa dk osru ¼izfr VSDlh izfr ekg :-½
Drivers' salary (per month per taxi Rs.)     200
okf"kZd ejEer ¼izfr VSDlh :-½
Annual repairs (per taxi Rs.)   1,000
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OR
fuEu lwpuk ls ferO;;h vkns'k ek=k rFkk o"kZ es fn;s tkus okys vkns'kksa dh
la[;k Kkr dhft,%
okf"kZd miHkksx 4000 bdkb;k¡
Ø; djus dh izfr vkns'k ykxr   60 :-
izfr bdkbZ ewY;   10 :-
xksnke o ogu ykxr vkSlr lkexzh dh izfr'kr ds
vk/kkj ij    3 :-
From the following information, find out the Economic order Quantity and
the number of orders placed in the year :
Annual consumption 4000 units
Buying cost per order     60Rs.
Price per unit     10Rs.
Storage and carrying cost as a percentage of average.
Inventory      3Rs.

ç'u 2- Je ykxr ds la?kVd D;k gSa\
What are the components of Labour Cost?

OR
,d Jfed dh etnwjh 48 ?k.Vs ds fu/kkZfjr lIrkg ds fy, 45 :- izfr ?k.Vk
gSA ,d bdkbZ dks mRikfnr djus dk vuqekfur le; 20 feuV gSA izsj.kkRed
;kstuk ds vUrxZr LohÑr le; 10% c<k;k x;k gSA mlus ,d lIrkg esa
150 bdkb;ksa dk mRiknu fd;kA gkYls ,oa jksou izhfe;e ;kstukvksa ds
vUrxZr dqy ikfjJfed Kkr dhft,A
A worker's wage for a guaranteed 48 hours week is Rs. 45 per hour. The
estimated time to produce one unit is 20 minutes. Under the incentive
scheme, time allowed is increased by 10% . He produced 150 units, during
a week. Calculate the total wages under Halsey and Rowan bonus plan.

ç'u 3- fuEufyf[kr vkadM+ksa ls iz;qDr lkexzh ds ewY; dk fu/kkZj.k dhft,%
From the following data determine value of raw materials consumed :

:i;s Rs.
lkexzh dk izkjafHkd jgfr;k
Opening stock of raw materials     5000
lkexzh dk vfUre jgfr;k
Closing stock of raw materials  10,000

There are 3 holidays for Deepawali, 2 for Holi and 2 for Christmas,
exclusive of  Sundays. The factory works 8 hours a day on 5 days  and 5
hours on Saturday in a week. There are 50 machines in the factory of
same type. The expenses are as follows :

izfr o"kZ@Per Annum

: (Rs)

'kfDr@Power 40,000

izdk'k@Lighting   8,000

QksjeSu dk osru@Salary of Foreman 20,000

e'khuksa dh ejEer@Repairs of Machines 18,000

fpdukbZ rsy] vkfn@Lubricating Oil, etc.   1,000

gzkl@Depreciation 13,000

ç'u 3- Bsdk [kkrk D;k gS\ bls rS;kj djrs le; fdu&fdu ckrksa dks /;ku esa j[kuk
pkfg,\
What is Contract Account? What important points should be kept in mind
while preparing it?

OR

esllZ fgUnqLrku VsªsMlZ rhu izdkj ds ia[ks cukrs gSa %- Vsfcy ia[kk] lhfyax
ia[kk vkSj dwyjA lkexzh vkSj etnwjh dh ykxr fuEu izdkj gS %
Messrs Hindustan Traders manufactures three types of fans-table fan,
ceiling fan and cooler. The cost of materials and wages are as under:

            lkexzh@Materials  etnwjh@Wages

:(Rs.)   :(Rs.)

Vscy ia[kk@Table Fan     60        80

lhfyax ia[kk@Cieling Fan   100      100

dwyj@Cooler   900      250

mudk dqy dkj[kkuk mifjO;; vxLr 2018 esa 1]00]000 :- FkkA izR;sd
izdkj ds ia[ks dh dkj[kkuk ykxr crkb,] ;g ekurs gq, fd dkj[kkuk
mifjO;; ds vkcaVu gsrq ,d lhfyax ia[kk] nks Vscy ia[kksa ds cjkcj rFkk ,d
dwyj] ikap Vsfcy ia[kksa ds cjkcj gSA vxLr 2018 esa mRiknu dh ek=k 1]000
Vsfcy ia[kk] 500 lhfyax ia[kk rFkk 100 dwyj FkhA
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lkexzh dk Ø;
Purchase of raw materials  60,000
lkexzh ds Ø; ij HkkM+k
Freight on purchase of materials       500
Ø; ij pqaxh dj pqdk;k
Paid octroi duty on purchase       100
csph xbZ lkexzh dh ykxr
Cost of materials sold    2,000
O;FkZ lkexzh dh fcØh
Sale of waste materials    2,400
lkexzh ij izR;{k O;;
Direct expenses on materials    1,000
lkexzh dh vlkekU; {kfr
Abnormal wastage of materials       200

OR
viw.kZ Bsds ij ykHk dh x.kuk ds fu;e dks le>kb;sA
Explain the basic principles to be followed in determining the amount of
profit on uncompleted contracts.

ç'u 4- ifjpkyu ykxr fof/k fdu lsokvksa o O;olk;ksa ij ykxw gksrh gS\ le>kb;sA
To what services and businesses are operating costing method applied?
Explain.

OR
fuEu vkadM+s fn, gSa %
The data are as follows :
Product     Units Produced Selling price per Unit
    X 3,000 10
    Y 2,000 20
    Z 1,000 40
foPNsn iwoZ dh la;qDr ykxr 44]000 :- dks vfHkHkkftr dhft,A
Apportion the pre-separation Joint Cost of  Rs. 44,000.

ç'u 5- le&foPNsn fo'ys"k.k dh lhek,a le>kb,A
Explain the limitations of Break -even Analysis.

OR
xSj&,dhÑr ys[kkadu i)fr D;k gS\
What is Non-integrated system of accounting?

Section - 'C'

fuEukafdr nh?kZ mŸkjh; ç'uksa ds mŸkj 300&350 'kCn lhek esa nsa
Answer the following long-answer-type questions with word
limit 300-350                                                                              (8x5=40)

ç'u 1- mifjo;; dh ifjHkk"kk nhft, rFkk mudk oxhZdj.k crkb,A

Define overheads and give their classification.

OR

fuEufyf[kr lwpuk ls LVkWd vkorZ Kkr dhft, %

Calculate Inventory Turnover from the following information :

         Units

vf/kdre LVkWd@Maximum Stock           9,000

vkns'k Lrj@Order Level           3,000

U;wure LVkWd Lrj@Minimum Stock Level       1,200

iqu % vkns'k ek=k@Re-order Quantity           7,800

lkekU; [kir@Normal Consumption 300 izfr fnol@per day

ç'u 2- dk;Zghu le; D;k gS rFkk ifjO;; ys[kksa esa bldk ys[kk fdl izdkj fd;k
tkuk pkfg,\

What is idle time and how should it be treated in Cost Accounts?

OR

,d lwrh oL= dkj[kkus dh ;U='kkyk ds fuEu fooj.k ls izfr ?k.Vk e'khu
nj dh x.kuk dhft,A ;g ekurs gq, fd ;U='kkyk o"kZ Hkj 90% dk;Z{kerk
ls dk;Z djsxh rFkk dk;Z :dus ds fy, 10% izfr'kr O;oLFkk mfpr gSA

jfookj ds vfrfjDr nhokyh ij 3 fnu] gksyh ij 2 fnu rFkk fØlel
ij 2 fnu dh Nqêh gksrh gSA dkj[kkuk lIrkg esa 5 fnu 8 ?k.Vk ,oa 'kfuokj
dks 5 ?k.Vk izfrfnu pyrk gSA dkj[kkus esa ,d gh izdkj dh 50 e'khusa yxh
gSaA O;; fuEukafdr gS %

From the following data of  machine room of a textile factory, compute
the per hour machine rate. Assuming that the machine room will work on
90 % capacity throughout the year and that a breakdown allowance of
10% is reasonable.
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